You are given the following circuit:
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VS’ R?

Il 12

Which of the following statements are true? [Note: Positive power dissipation
indicates that the element is dissipating power while negative power dissipation
indicates that the element is generating power.]

1. The power dissipated by all elements must sum to 0.

2. According to Ohm's law, the power dissipated by the resistors must be non-
negative.

3. The power dissipated by the voltage source must be less than 0.
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Quiz: Final A
4. The power dissipated by the current source Py may be found by shorting the
voltage source, finding V7, and then calculating Py = V;Ig.
1 and 2 only.
1,2, and 3 only.
1,2,3, and 4.
2,3, and 4 only.

1, 3, and 4 only.
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You are given the inverter circuit shown below. You would like to reduce the power
supplied by the power supply by a factor of 2.

You are given that C, = 1 pF, f; = 1 GHz (the clock rate), Ronp = Ron;n = 1002
,and Vzg = 1 V. You are only allowed to adjust the circuit as described below.
Which of the following could you do?

Vad

M1 I

‘/in - VO

1\I2|: —CL

Add another PMOS transistor in series with M1 and another NMOS transistor in series with
M2.
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Quiz: Final B

None of the other choices.
Double CT,.
Double V4.

Add another PMOS transistor in parallel with M1 and another NMOS transistor in parallel
with M2.
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